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Write an equation of a circle with a
radius of 9, that has a center (7,-2)
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Silent Reading (5 minutes)

Quietly read through the Vocabulary
Section on page 135 of your text book.

take notes on your own time later as needed.
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e Check your answers by referring to the
Checkpoint 3A materials section of the
answers.

* If you feel that you need more confidence
when solving these types of problems, then
review the Checkpoint 3A materials and try
the practice problems provided. From this
point on, you will be expected to do problems
like these correctly and with confidence.
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